BIC

5x10°

log[ Relative Probability ]

Window Half—Width (km/s)

2x108

108

2x10°

5

10

—100 0

—200

10*

1000

rm576

2/(411286 5217) 0.893

BIC 429896 81 ABIC 0.000 AIogP O OOOO
x 362456.44 Ax 0.000 AlogP 0.0000 7

ool

L ABIC —313077 1114 :( 110.3 ( J
I :sz —-313077 —49.9 —2010 |
4963 4963 5053 5217
A ACs. ACSF | ACBF .
50 100 150 200
220 iterations
rm576 2/(411286 5217) 0.893
: : . : , . : : : , : .
i ' ' BIC 429896 81 ABIC 0.000 AIogP O OOOO i
L . . ) ) i
I T | Z
i o | )
R P A ]
- : | : -
S A SRR 1 ]
[ 4963 | 4963 ' 5053 : 5217
LA | AS o ACSF o ACSB,F ]
\ \ . \ 1 [ \ \ 1 \ e, 7 : ) ) ) 1
50 100 150 200
220 iterations
Fe2 13% 618+139 km/s
BLR 6860 NLR 900 km/s

100

220 iterations

BIC

BLR

NLR
Fell

kdh1 14-0ct-2021 02:21



